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REHK: dy=1.167Tmm, FEMmIZEA: d=1.165mm
FERBZ K 1) = 132.5mm, I, = 900.0 mm
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m =5.52¢g (2)
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= ? = 7.192 x 10~°kg/m (3)
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SAREMKE L = 60.0cm, HAMMEE g = 9.801m/s?, FEASHE M = 1.000kg, 57/
T =3Mg=29.403N,
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. (5)
ve NPCER LI B, A of
Ve = fA=fx — (6)
n
n fo/Hz fo/Hz |GH/% ve/(m/s) wve/(m/s) [|32|/%
1 533 54.6 2.4 63.94 65.52 2.47
2 106  109.2 3.0 63.94 65.52 2.47
3 160  168.2 5.1 63.94 67.28 5.22
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1.3 JLEEBiR ke ik Ik &
SRRARKIE L =60.0cm, JEER n=1, ZELHE p="7192x 10%kg/m.

T/N  f/Hz f/Hz |$H/% WnT  Inf.
9.801  30.8  32.5 55 22825 3.481
19.602 435  46.4 6.7 297563 3.837
29.403 533 549 3.0  3.38110 4.006
39.204 615 635 3.3 3.66878 4.151
49.005 68.8  T71.2 3.5  3.89192 4.265
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X InT 5 In f AR/ "HGREIEMSG In f = a+ bInT A[PATGE]
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Inf=1In(
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a=239+0.03

b =0.481 + 0.009

r = 0.9994

1.4 JEPBAR Gk E &
B2k Bk T =29.403N, S n =1, ZRLHF p="7.192 x 10~kg/m,

ap = 228, b1 =0.5

1
)+§lnT:a1 +b;InT

L/em  f./Hz f/Hz [3L1/% WL" Inf
40.0 799 826 3.4 0916 4.414
470 680 718 56  -0.755 4.274
540  59.2 624 54  -0.616 4.134
62.0 51.6  52.6 1.9 -0.478 3.963
700 457 480 50  -0.357 3.871
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Xt InT 5 In f AEE/N ZFGESNE A In f = a + bIn L AJLARGE]
a = 3.506 = 0.025

b= —1.00+0.04
r = 0.997
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In f :1n(Z\F) ~InL=as+bInT
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